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1 Georgina has 250 millilitres of milk in a glass.
She takes five seconds to drink some of the milk.

The graph shows this information.
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1) How many millilitres of milk did Georgina drink in five seconds?
N =
(1 mark)
1 (b) Georgina does not drink any milk for the next two seconds.
She then drinks all the remaining milk in three seconds.
Show this information on the graph.
(2 marks)
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2 Here is a mobile phone tariff.

Plan 1
Monthly charge £30

Free minutes of calls per month 400

Extra minutes charged at 20 pence per minute

Plan 2 is a different mobile phone tariff.

These graphs show the cost, in £, for each of the plans.
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2 (a) Complete the mobile phone tariff for Plan 2.

Plan 2
Monthly charge £40
Free minutes of calls per month

Extra.minutes chargedat  ............ pence per minute

(4 marks)

2 (b) Louis is deciding whether to use Plan 1 or Plan 2.

Work out the number of minutes of calls for which Plan 2 is cheaper.

(2 marks)
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3 (a) Line A is drawn on the grid.
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What is the equation of Line A?
ANSWET oo e e
3 (b) Line B is drawn on the grid.
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What is the gradient of Line B?
N 1=
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4 Points R and S are shown on the grid below.

y

S
R
X
4 (a) Write down the coordinates of R.
ANSWEr (.eeereeereenen. ) eereeeeeenreeareen ) (1 mark)
4 (b) Plot the point M (4, 2) on the grid. (1 mark)
4 (c) M is the midpoint of the line segment RT.
4 (c) (i) Mark the position of T on the grid. (2 mark)
4 (c) (ii) Write down the coordinates of T.
ANSWET (eevrveeiieerinanne ) eeeeeereenne e ) (1 mark)
4 (d) The points R, S and U are on a straight line. The
point U is twice as far from R as point S. Write
down the coordinates of U.
ANSWEr (eeereereieeneen. ) eereeree e ) (2 marks)
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5 The graph shows the cost, C (£), of hiring a concrete mixer from Redwood Plant Hire for a
number of days, d.
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5 (a) Circle the correct formula for the cost, C.

C =24d C=8d+24 C=16d + 8 C=8d+16
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5 (b)

The cost of hiring a concrete mixer from Greens Plant Hire is given by the formula

C=9d+11
Helen thinks that Greens Plant Hire is always cheaper.

Is this true?
Tick a box.

Yes No

Give reasons for your answer.
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6 The graph shows two training runs by lan and Pete.

10

(o]
NI\

\

N

\\
N

Distance / 4
(km) 5

N\
N

/e

o
Y

0 5 10 15 20 25 30 35 40 45 50 55 60

Time (minutes)

6 (a) After how many minutes does lan overtake Pete?

ANSWET <.eeiiiiiiie et e e et e e e e e e e e minutes (1 mark)
6 (b) How far ahead is Pete when lan starts again after his rest?

ANSWET i km (2 marks)
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